


The number of keys in numeric key pad is

A 19
B. 10
Cc. 15

D. 1/7#
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The length of ribbon used in a standard

typewriter

B, 10m #

D. 12m




Which is the Master key in typewriter ?

1. N

B
L
Y

I I

| #
2
1 &3
2&4

o 0w >




Looking at the keys, while typing is called:

A.  Touch method
B.  Sight method#
C. Printing method

D. None of these
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The QWERTY keyboard Typewriter was

invented by:

A. Henry Mill
8. William Burt
C. Christopher Latham Sholes#

D. Charles Thurber



<

What is the usage of back spacer key?

A. for moving carriage to right hand side #
B. for moving carriage to left hand side
C. for moving carriage half space to left hand side

D. None of the above



\‘

Mainspring is situated in a machine:

A. Inner Right side
B.  Under the universal bar
C. Innerleft side #

D. Middle of the machine



.

What is the degree size of a policy type

carriage typewriter?

A. 100
B.  140#
c. 180

D. 240




what will happen to the carriage when we <

type one letter?

A.  move carriage half space to left
B. move carriage one space to left #
C. move carriage half space to right

D. move carriage one space to right



One of the following is not a method for ‘

bringing carriage in fo left side:

.
\\\
\\

A.  Press Back Spacer#
8. Press Tabulator Key
C. Press Tabulator Bar

D. Press Space Bar



The carriq\ge and the mainspring are

connected by the

A. Feedroll release lever
B. Draw Cord #
C. Ratchet wheel

D. Base board




m er portion of the typewriter VN

moves while typing is called:

A Segment
8. Carriage #
C. Cylinder

. None



.

What are the guide keys?




\‘

Space bar is operated by:

A.  Middle Finger
8. Left Thumb

C. Right Thumb#
D. Left Little Finger



Home keys in English Typewriter:

A, asdf;lkj #
B. np

C. mn

D. a;




michk i

ey is known as Dead - key in the
N

Malayalam Typewriter?

A, Semi-Colon
B. Chandrakala #

Hyphen



The inventor of Carbon Paper

A.  Henry Mill

James Watt



Universal keyboard came into effect in the

yedar.

A 1896 #
B. 1714
C. 1888

D. 1876




s

'Cylinder is made with the rubber insieqd\ef‘
metal’. One of the following reasons is not

suitable with it

A.  High sound while typing
8. Damage of the type face
C. No clear impression of the letters

D. Considering the cost of metal#

e



Cylinder is also known as:

A. Platten#
5. Chord

c. Draw band

D. Carriage




Cylinder of the typewriter is covered by:

A.  Fibre
B. Epoxy
C. Hardenedru

Carbonated rubber



Heart of the Typewriter Machine:

A.  Carriage Rack
8. Type Bar Cushion
c. Carriage

. Mainspring#



If the Ii\ne space lever is broken while typi

the paper can be taken to the next line by

the use of:

A, Space bar
8. Thumb wheel #
C. Escopemer)’r

D. None of these




How many types of Typewriters

o 0 = >
w M




The designer of Malayalam Typewriter

keyboard is:

A. T K Ramakrishnan
B. R Raman Pillai
C. NS Pondolg

D. TR Krishnayer




\‘

Typewriter was invented by:

A.  Christopher L Sholes
8. William Stanley
C. Alexander Grahambel

D. Henry Mill#



First commercial Typewriter introduced 'rrfhe\

year

A 1870 #
B. 1896
c. 1714
D. 1888



Cylinder of typewriter is made by:

A, lron
B. Steel

C. Fibre

D. Rubber#




To\proied\qcylinder, A--------- shoN

always be used:

A. Backing Sheet#
8. Base Board

Silkk Carrier



.

When ewier key of space bar is pressed,
the carriage moves to wards -

A, Left#
B.  Right
c. Up

D. Dow




A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



How many carriage release levers are i

Typewriter -

A. 2#

C. 4
D. b




Which one is correct
1. 4 types of scales are there in a typewriter
2. 4 types of cylinders (3)

3. Single Mainspring used in a Typewriter

AT &2
B. 1 & 3#
C. 1

D. 2&3



Most of the metal letters are made with:

A, lron
B. Lead #
c. Copper

D. None



\‘

location of universal bar in Halda typewriter:

A. At the back of vertical link
B. In front of vertical link #
C. Infront of segment

D. At the back of segment



A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



\‘

The following part should not be oiled:

A.  Escapement wheel
8. Pinion wheel
C. Type segmen#t

D. Ribbon gear



in\rocke%chanism, which of the foIIowing‘

is closely related?

A.  Pinion wheel,
8. rigid dog,

loose dog,



Which of the following is not seen in Rocker

Mechanism?

A. Loose Dog
8. Way Rod #
C. Escapement Wheel N

D. Pinio eel



Carriage rack is running over which wheel?

A.  Escapement
B.  Type basket
C.  Pinion #

D.  Marginal stops



Carriage rests on the :

A.  Pinion Wheel#
B. Ratchet Wheel
C. Escapement wheel

D. Carriage Rack



\‘

If the dogs are worn out it causes :

A.  Sluggish movement
B. Jerky movement #
Cc. Defective feeding

D. Bad alignment



<

Which defect results a Jerky motion?

A.  Low tension of the Carriage
8. Bad condition of the Ribbon
C. High Tension of the Carriage#

D. Poor quality of the paper.



Which among the following causes bad ‘

alignment while typing on a typewriter ?

A.  Lack of uniform touch
8. Faulty depression of Shift keys
C. Bothland2 #

D. None of the above



What will be the effect of too little carriage

tension?

A. Letfters may overlap #
8.  Make jerks
C. Move easily without strain

D. Nnone




\‘

Uneven space between the characters is :

A.  Sluggish movement
B. Jerky movement
C. Alignment

D. Bad alignment#



The number of keys in numeric key pad is

A 19
B. 10
Cc. 15

D. 1/7#
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The length of ribbon used in a standard

typewriter

B, 10m #

D. 12m




Which is the Master key in typewriter ?

1. N

B
L
Y

I I

| #
2
1 &3
2&4

o 0w >




Looking at the keys, while typing is called:

A.  Touch method
B.  Sight method#
C. Printing method

D. None of these
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The QWERTY keyboard Typewriter was

invented by:

A. Henry Mill
8. William Burt
C. Christopher Latham Sholes#

D. Charles Thurber



<

What is the usage of back spacer key?

A. for moving carriage to right hand side #
B. for moving carriage to left hand side
C. for moving carriage half space to left hand side

D. None of the above



\‘

Mainspring is situated in a machine:

A. Inner Right side
B.  Under the universal bar
C. Innerleft side #

D. Middle of the machine



.

What is the degree size of a policy type

carriage typewriter?

A. 100
B.  140#
c. 180

D. 240




what will happen to the carriage when we <

type one letter?

A.  move carriage half space to left
B. move carriage one space to left #
C. move carriage half space to right

D. move carriage one space to right



One of the following is not a method for ‘

bringing carriage in fo left side:

.
\\\
\\

A.  Press Back Spacer#
8. Press Tabulator Key
C. Press Tabulator Bar

D. Press Space Bar



The carriq\ge and the mainspring are

connected by the

A. Feedroll release lever
B. Draw Cord #
C. Ratchet wheel

D. Base board




m er portion of the typewriter VN

moves while typing is called:

A Segment
8. Carriage #
C. Cylinder

. None



.

What are the guide keys?




\‘

Space bar is operated by:

A.  Middle Finger
8. Left Thumb

C. Right Thumb#
D. Left Little Finger



Home keys in English Typewriter:

A, asdf;lkj #
B, np

C. mn

D. a4,




michk i

ey is known as Dead - key in the

Malayalam Typewriter?

A, Semi-Colon
B. Chandrakala #
C. Hyphen

Colo



The inventor of Carbon Paper

A. Henry Mill
B. James Waltt
C. Pellegrino Turri

Pitman



Universal keyboard came into effect in the

yedar.

A 1896 #
B. 1714
C. 1888

D. 1876




\4

'‘Cylinder is made with the rubber instead of metal'.

One of the following reasons is not suitable with it

A.  High sound while typing
8. Damage of the type face
C. No clear impression of the letters

D. Considering the cost of metal#

e



Cylinder is also known as:

A. Platten#
5. Chord

c. Draw band

D. Carriage




Cylinder of the typewriter is covered by:

A.  Fibre
B. Epoxy
C. Hardenedru

Carbonated rubber



Heart of th Typewriter Machine:

A.  Carriage Rack
8. Type Bar Cushion
c. Carriage

D. Mainspring#




If the line space lever is broken while typing the

paper can be taken to the next line by the use of:

A, Space bar
8. Thumb wheel #
C. Escapement

D. None of these




How many types of Typewriters

o 0 = >
w M




The designer of Malayalam Typewriter

keyboard is:

A. T K Ramakrishnan
B. R Raman Pillai
C. NS Pondolg

D. TR Krishnayer




\‘

Typewriter was invented by:

A.  Christopher L Sholes
8. William Stanley
C. Alexander Grahambel

D. Henry Mill#



First commercial Typewriter introduced 'rrfhe\

yedar

A 1870 #
B. 1896
c. 1714

D. 1888



Cylinder of typewriter is made by:

A, lron

B. Steel

C. Fibre

D. Rubber#




To\proied\qcylinder, A--------- shoN

always be used:

A. Backing Sheet#
8. Base Board

Silkk Carrier



.

When ewier key of space bar is pressed,
the carriage moves to wards -

A, Left#
B.  Right
c. Up

D. Dow




A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



How many carriage release levers are i

Typewriter -

A. 2#

C. 4
D. b




Which one is correct
1. 4 types of scales are there in a typewriter
2. 4 types of cylinders (3)

3. Single Mainspring used in a Typewriter

AT &2
B. 1 & 3#
C. 1

D. 2&3



Most of the metal letters are made with:

A, lron
B. Lead #
c. Copper

D. None



\‘

location of universal bar in Halda typewriter:

A. At the back of vertical link
B. In front of vertical link #
C. Infront of segment

D. At the back of segment



A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



\‘

The following part should not be oiled:

A.  Escapement wheel
8. Pinion wheel
C. Type segmen#t

D. Ribbon gear



in\rocke%chanism, which of the foIIowing‘

is closely related?

A.  Pinion wheel,
8. rigid dog,

loose dog,



Which of the following is not seen in Rocker

Mechanism?

A. Loose Dog
8. Way Rod #
C. Escapement Wheel N

D. Pinio eel



Carriage rack is running over which wheel?

A.  Escapement
B.  Type basket
C.  Pinion #

D.  Marginal stops



Carriage rests on the :

A.  Pinion Wheel#
B. Ratchet Wheel
C. Escapement wheel

D. Carriage Rack



\‘

If the dogs are worn out it causes :

A.  Sluggish movement
B. Jerky movement #
Cc. Defective feeding

D. Bad alignment



<

Which defect results a Jerky motion?

A.  Low tension of the Carriage
8. Bad condition of the Ribbon
C. High Tension of the Carriage#

D. Poor quality of the paper.



Which among the following causes bad ‘

alignment while typing on a typewriter ?

A.  Lack of uniform touch
8. Faulty depression of Shift keys
C. Bothland2 #

D. None of the above



What will be the effect of too little carriage

tension?

A. Letfters may overlap #
8.  Make jerks
C. Move easily without strain

D. Nnone




\‘

Uneven space between the characters is :

A.  Sluggish movement
B. Jerky movement
C. Alignment

D. Bad alignment#



The number of keys in numeric key pad is

A 19
B. 10
Cc. 15

D. 1/7#



Pick out an application software from the

following:

A, MS Word #
B.  Windows
c. DOS

D.  Linux
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A range may contain:

A. A Group of adjacent cells
B.  Many cells

C. Asingle cell

D. All of the above#
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How many ribbon tabs are there in Powe
Point 2007

A One
B. Seven
C. Five #

D. Ten
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.

ich of the following word processor come

first:

A.  Word Processing
8. DOS
C. Word Star#



The length of ribbon used in a standard

typewriter

B, 10m #

D. 12m




Microsoft Excel file is also:

A. Worksheet

8. Work space

C. Work Book#

D. File



https://b.work/

Which is the Master key in typewriter ?

1. N

B
L
Y

I I

| #
2
1 &3
2&4

o 0w >




mqb\mPower point holds the m

and paste features

A.  Insert tab
B. Home tab#

Design tab



Looking at the keys, while typing is called:

A.  Touch method
B.  Sight method#
C. Printing method

D. None of these



.

hich of the following is used as Word

Processor in Linux Operating Sygteni’?/
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The QWERTY keyboard Typewriter was

invented by:

A. Henry Mill
8. William Burt
C. Christopher Latham Sholes#

D. Charles Thurber



The maximum width of a column in MS

is.

254
256
255#
257

Xce



The symbol used for input/output operations I

in flow chari\

(a) Rectangle

(b) Parallelogram#

(c) Rhombus

(d) Oval shape



<

What is the usage of back spacer key?

A. for moving carriage to right hand side #
B. for moving carriage to left hand side
C. for moving carriage half space to left hand side

D. None of the above



The comunicaﬁon mode that supports tw

way traffic but only one direction at time is:

(a) Simplex

(b) Duplex

(c) halfduplex #
(d) multiplex



This n\eiw\ork is an autonomous Inter - ‘

University Centre of the University Grants

Commission:

(a) NICENET

(b) BRNET
(c) INFLIBNET #

(d) NICNET



Which tab is not available on left panel whe

you open a presentation?

A.  Slides

.  Qutline

C. Notes #

0.  All of the above are available




The inventor of world wide web:

(a) Tim Berner's Lee#

(b) Marc Andreessen
(c) James H.Clark

(d) Robert Cailliau



\‘

Mainspring is situated in a machine:

A. Inner Right side
B.  Under the universal bar
C. Innerleft side #

D. Middle of the machine



The prB\c\ess\d loading operating system to '

memory is called:

(a) Initializing
(b) Booting#
(c) Loading/

(d) Allocating



MS-Word is a type of :

A.  Operating System
B.  System Software
C. Application Software #

D. Utility Software



.

The UNIX operating system was first

installed in:

(@) IBM-360
(b) PDP/11
(c) PDP



.

What is the degree size of a policy type

carriage typewriter?

A. 100
B.  140#
c. 180

D. 240




\‘

Who is known as the father of Internet?

(a) Charles Babbage
(b) Vinton Surf#

(c) Blaize Pascal

(d) Donald Knuth /



Which of the following registers is used to keep\‘
track of address of the memory location where the

next instruction is located?

(a) Memory Address Reqister
(b) Memory Data Register

(C) Instruction Register

(d) Program Counter# /



Which of the following memory needs periodic
refresh?

() SRAM

(b) DRAM#

(C) ROM

(d) All the above



.

In Excel, the intersection of row and column

known as

A Cell#
8. Symbol
Workbook



what will happen to the carriage when we <

type one letter?

A.  move carriage half space to left
B. move carriage one space to left #
C. move carriage half space to right

D. move carriage one space to right



\‘

Example of Out Put device:

(a) Key Board
(b) Mouse

(c) Bar Code Reader

(d) Printer# /



<

Viruses, Trojan horses and worms are

(a) Able to harm computer system#
(b) Unable to harm computer system
(c) User friendly applications

(d) Harmless applications resident on computer



Punched cards use:

(a) Aloha numeric code
(b) EBCDIC code

(C) ASCII code

(d) Hollerith code#



Which is cqpsidered a direct entry input I

device? \

(a) optical scanner

(b) Mouse
(c) light pen #
(d) All of the above



Which is not an antivirus:

(a) K7
(b) Kaspersky

(c) Malware #

d} Norton




\‘

White pacific is known as?

(a) mini computer
(b) Super computer#
(c) lap-top

(d) none of these /



W

Super computer ‘ANUPAM'developed

in India by:

(@) NOKIA
(b) BARC#
(C) IBM
(d) MICROSOFT



Sendin\gur&liciied emails indiscriminately

to promote a product or a service is called:

(a) Spooling

(b) Spamming#
(c) Phishing
(d) Hacking



Which PowerPoint feature allows the user to

create a simple presentation quickly:

A.  AutoContent Wizard
B. Templates

C. New from existing

D. Both A & B#




One of the following is not a method for ‘

bringing carriage in fo left side:

.
\\\
\\

A.  Press Back Spacer#
8. Press Tabulator Key
C. Press Tabulator Bar

D. Press Space Bar



----- helps you find characters, words, and
phrases:

A. Replace
8. Goto option
C. Find option

None of these




The principle of locality of reference justifies the use of

(a) Re-enterable
(b) Non reusable
(c) Virtual memory

(d) Cache memory#



The carriq\ge and the mainspring are

connected by the

A. Feedroll release lever
B. Draw Cord #
C. Ratchet wheel

D. Base board




In Excel we can undo the last actions:

A, 100#
3. 300
c. 200
D. 400




Which of the following is an object oriented '

programming language?

(a) Pascal
(b) Fortran

(c) Java



m er portion of the typewriter VN

moves while typing is called:

A Segment
8. Carriage #
C. Cylinder

. None



\‘

What is the step to send a word document as

an E-mail from the word document?

A. Home>Send> Email
B. Office Button >Send >Email #
C. Office Button> Email >Send

D. Home >Email >Send

e



.

What are the guide keys?




Insert uplicate slide in the current

presentation:

A, Cirl+M
3. Cirl+D #
c. Cirl+0

D.  Cirl+9




\‘

Space bar is operated by:

A.  Middle Finger
8. Left Thumb

C. Right Thumb#
D. Left Little Finger



You can set Page Border in Excel from

A. Border Tab in the Format Cells dialog box
8. Border Tool in Formatting Toolbar
C. Line style tool in Drawing toolbar

D. You cannot set page border in Excel#



Home keys in English Typewriter:

A, asdf;lkj #
B, np

C. mn

D. a4,




.

hich of the following shortcut key is used 10\

take print preview of a document?

A Ctrl+P
B. Alt +F2
. Cirl+ F2#
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The inventor of Carbon Paper

A. Henry Mill
B. James Waltt
C. Pellegrino Turri

Pitman



What is GIMP?

(a) System Software

(b) Operating System

(c) Application Software#
(d) Both A and B



Universal keyboard came into effect in the

yedar.

A 1896 #
B. 1714
C. 1888

D. 1876




The WalkieT{Ikie is an example of which

mode of communication?

(a) Simplex e
P

(b) Half Duplex#’/’/
(c) Duplex

(d) None of the above




An assembler is :

(a) data dependent
(b) programming language dependent
(c) machine dependent#

(d) syntax dependent



Cylinder is also known as:

A. Platten#
5. Chord

c. Draw band

D. Carriage




Cylinder of the typewriter is covered by:

A.  Fibre
B. Epoxy
C. Hardenedru

Carbonated rubber



If the line space lever is broken while typing the

paper can be taken to the next line by the use of:

A, Space bar
8. Thumb wheel #
C. Escapement

D. None of these




\‘

Which of the following is a cyber crime ?

A. White hat hacking

B. Installing antivirus for protection

C. Copying files

D. Forgery# /



How many types of Typewriters

o 0 = >
w M




First commercial Typewriter introduced 'rrfhe\

yedar

A 1870 #
B. 1896
c. 1714

D. 1888



The comwd used to save an existing

documentin

different folder:

A, Save
B. Send

. Save as #



Cylinder of typewriter is made by:

A, lron

B. Steel

C. Fibre

D. Rubber#




A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



.
Which\c%nand brings you to the first slide

in your presentation?

A.  Next slide button
8. Page up

C. Ctrl+Home#
D. Ctrl+




Which one is correct
1. 4 types of scales are there in a typewriter
2. 4 types of cylinders (3)

3. Single Mainspring used in a Typewriter

AT &2
B. 1 & 3#
C. 1

D. 2&3



A Typewriter can be identified by:

A.  Chasis Number and Maker's Name#
B. Chasis Number and Colour
C. Maker's Name and Colour

D. Chasis Number and Speed



\‘

The following part should not be oiled:

A.  Escapement wheel
8. Pinion wheel
C. Type segmen#t

D. Ribbon gear



The protocol used for retrieving email from

a mail server is:

(a) POP3#
(b) SNMP
(C) SMTP



.

A spreadsheet similar to MS Excel in Open

Office.orq is

A, Calc #
5. Draw
C. Lotus 1-2-3

D. Impress


https://office.org/

Monitor is also known as:

(a) Visual Display Unit#
(b) Memory Unit
(c) Storage Device

(d) Program



A \ is a computer application

<

consisting oﬁosr more programs created

to perform a particular type of work:

(a) OS

(b) Debug
(C)Umﬁy
(d)Poékcge



Looking at the keys, while typing is called:

A.  Touch method
8.  Sight method #
C. Prinfing method

D. None of these



<

A measurement used in comparing software

and Hardware performance:

N

(a) Benchmarking #

(b) Conftrasting
(c) Distinguishing
(d) Evaluating



Time elements can be seperated using






\‘

Which of the following groups consists of

only input devices?

(a) Keyboard, Printer, Monitor
(b) Mouse, Keyboard, Scanner#

(c) Keyboard, Mouse, Printer

(d) Printer, Scanner, Mouse /



\‘

Movement of a mouse is detected using
LED in:

(a) Optical Mouse#
(b) Opto - mechanical Mouse

(c) Mechanical Mouse

(d) USB Mouse /



Archie launched on

A.
B.

C.

1980
1970
19904

960




What was the first Scientific Computer

Programming Language ?

(a) COBOL
(b) LISP
(c) AD
FORTRAN#



The program\thai brings the object code into

memory for execution is:

(a) Loader#
(b) Fetcher
(c) Extra

(d) Linker



For easier learning of Computer Programming

Language is ......

(a) BAL
(b) BARSA
(c) BAS|



The mem which is ultra violet erasable

and electrically programmable is:

() EPROM#
(b) ROM

(c) PRO
(d) RAM



1 Mega Byte is

(a) 1024 Byte
(b) 1024 KB#
(c) 1024 MB
(d) 1 Nibble



The act of creating misleading websites for l

the purpose of online identity theft is called:

(a) Spoofing

(b) Phishing

(c) Cyber squatting#
(d) Cheating




A software which sends information to its creato
about lkl* activities like Pass word credit cardr\

number and other.informtion is

(a) Firm ware
(b) Mal ware
(c) Spy ware #

(d) Worm ware



comm rcial organization that provides its

subscribers with access to the Internet:

(a) USA

(b) Governme
(C) ISP#
(d) 1SO



Codes consisting of light and dark lines which l

may be optically read is known as:

(a) Bar code#
(o) Decoder

(c) Mnemonics

(d) All the above




